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Instructions to the c ndldates

1) Fi igures %0 the' rzglzt indicate full marks.

2) Neat d;agrams must be drawn wherever necessary.

'4;& 3 H
s

Q1) Attempt axjj’% EIGHT of the following: [8 x1=8]
a) 'Q'.fotation is used to denote upper of the tlme complex1ty, state true/
False. ey

b) Define Data structure.

c) What is In-place sorting? N

d) State the time complexity.of merge sort?

e)  Write structure definition for smgly c;rcular linked list.

f)  Write postfix express1onipra gwsn infix expression.
(PHQ/RY*LM): s =

g) "Doubly linked list need more merely than singly linked List" state true/
false.

h)  Whatis priarity queue;l% ~

i)  Wha is Double endecf:"(jueue?

J))  Definestack. |

v

Q2) Attemptany FOUR of the following : U 4x2=8]
a). List different types of data structures.
b) What is time complexity?

¢) Explain Divide and Conquer strategy.

d)  Write representation of polynomial usmg ﬁnked hst w1th suitable example.
e) List applications of stack. :
f)  Differentiate between circular queue & linefcrfrsqueue
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Q3) Attempt any TWO of the following : [2 % 4=8]
a)  Write a recussive function in 'C' for binary search.
b)  Write a function in 'C' to delete a node from singly linked list by value.

¢)  Write functions definition in "C" for push() and POP() to implement
static stack.

Q4) Attempt any TWOoTthefollowmg - [2 x 4=8]
a)  Apply selection §0rt di/the following data:

98,22, 79,36, 47, 26, 82
b) Write afunctlon in'C'to implement insert operation of a dynamic queue.
c) Eval;gafé qu{(‘)fWing postfix expression show all steps

Assume A=16, B=2, C=4, D=1, 3

0s5) Attempgény ONE of the following : . [1 x3=3]
a)  What is generalized linked List? Repfésenyt the given List (a,(b,c,d),e,f).

b) Show the contents of queue at'each sep of the following program
statements: : ”

int x = 20, y=30;°
init (¥, %y 3
enqueve )
enqueng(x), o,
y=dequete ();
y = deguizue ();
enqugf:}'ié (y+3);
X = y+?30
enqueue (x);

enqueue (x—1);
enqueue (x);
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